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QID : 101 - In the following question, select the related word from the given alternatives.
Calendar : Date : : Index : ?
FfafEa w8 Ry 77g faered & & wefda <1 &t gi-gl

oo : fafd: cg=f 2
Options:

1) Name of Author
g &1 A

2) Glossary
STeETa

3) Contents

fawg-asg

4) Summary

IqRIT

Correct Answer: Contents
fawa-aeg

Candidate Answer: Contents

fawa-aeg

QID : 102 - In the following question, select the related number from the given alternatives.

ACOUSTIC: 91 : : RENOUNCE : ?

fafafea vy § Ry g faredt & @ Tefda e« gl
ACOUSTIC : 91 : : RENOUNCE : ?

Options:

1) 95

2) 99

3) 105

4) 109
Correct Answer: 95
Candidate Answer: 95

QID : 103 - In the following question, select the related number from the given alternatives.

243:819::163:?

FeafafEa w8 Ry 7g foered & & wefda I & gl
243:819::163:?

Options:

1) 487

2) 563

3) 572

4) 593
Correct Answer: 487
Candidate Answer: 563

QID : 104 - In the following question, select the odd word from the given alternatives.

FrfafEa ue | Ry 77g foredt 7 & faww g &t gHg)
Options:
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1) Badminton

2) Table Tennis
e g

3) Cricket

fohdhe

4) Hockey

gleht

Correct Answer: Badminton

Candidate Answer: Badminton
Fefie

QID : 105 - In the following question, select the odd letters from the given alternatives.
et vy & Ry 7y faeredt & @ favm srert @t gfgl

Options:

1) ACFJ

2) RTWA

3) NPSV

4) HUMQ
Correct Answer: NPSV
Candidate Answer: NPSV

QID : 106 - In the following question, select the odd number group from the given alternatives.

FafafEa us | Ry 71g faredt 7 & fawm dwear 99g @t gl

Options:
1) (4,16, 48)

2) (6, 36, 90)
3) (8, 64, 160)

4) (12,144, 360)
Correct Answer: (4, 16, 48)
Candidate Answer: (8, 64, 160)

QID : 107 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Decollete
2. Desecrate
3. Decorous
4. Desipicable
5. Destitute

fffad weal ol 2reaentsr # 11 arel 37 & IgER ferd]

1. Decollete
2. Desecrate
3. Decorous
4. Desipicable
5. Destitute

Options:
1) 13245
2) 15243
3) 32451

4) 45231
Correct Answer: 13245
Candidate Answer: 13245

QID : 108 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
a_bc_a_bcdabc _da_cd_
FafafEa v & seRi o S 91 Tg @rell T IR AR 3@ 8 & TS 18R Sael Y G Ham?

a_bc_a_bcdabc _da_cd_
Options:

1) acbddb

2) adbcbd

3) cabddc
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4) ddcbbc
Correct Answer: adbcbd
Candidate Answer: adbcbd

QID : 109 - In the following question, select the missing number from the given series.
1357, 3085, 5282, 8026, ?
FrafafEa u 8§ Ry g foeredt # @ g 8fe 31d SIfSigl

1357, 3085, 5282, 8026, ?
Options:

1) 9961

2) 10441

3) 11321

4) 11401
Correct Answer: 11401
Candidate Answer: 11401

QID : 110 - 5 year hence, ratio of ages of A and B will be 7 : 5 and difference between their ages will be 4 years. What are present ages (in years) of A and B
respectively?
STST 4 5 Y & aTe, A JUT B Y SIRY T SIT0Td 7 : 5 B SITQHT JUT IhT SR T 31 4 I gRT| ShoAsT: A JUT B I IdAH o1 (It #) R 872

Options:

1)5,9

2)6,5

3)9,5

4)9,6

Correct Answer: 9,5
Candidate Answer: 9, 5

QID : 111 - From a point, Lokesh starts walking towards south and after walking 30 metres he turns to his right and walks 20 metres, then he turns right again and
walks 30 metres. He finally turns to his left and walk 40 metres. In which direction is he with reference to the starting point?

T forrg @, wfichar Sf&or Y SR I STRY &l & a1 30 Hiex I & 918 I8 31U 31 Jgare 20 HieR Iera 8, 98 fthe 3 Yok 30 Hier I &1 Sidd: I8 37U+ 913 3R Hgar & aum
40 Hex T &1 98 31U IRV Wi & fohg fem & 82

Options:

1) North-West
W_

2) East

3) West

4) South
gfaror
Correct Answer: West

Candidate Answer: West

QID : 112 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
ENCYCLOPEDIA
g Mg uy §, Fafafea feel § @ g e gRg St R Mg 21z & s1erRi ol TahT ek el ST ST ehdT 81

ENCYCLOPEDIA
Options:

1) CONE

2) CYCLE

3) NoISY

4) PEACE

Correct Answer: NOISY
Candidate Answer: NOISY

QID : 113 - In a certain code language, "RAIN" is written as "OHBQ". How is "SUMMER" written in that code language?

U fafre die T &, "RAIN" &Y "OHBQ" forar SITdT &1 39 i 9maT & "SUMMER" &t fhg e fora s

Options:
1) QFLNTT

2) QDLLTR

3) SFNNVT
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4) SDNLVR
Correct Answer: SDNLVR
Candidate Answer: SDNLVR

QID : 114 - In the following question, correct the given equation by interchanging two numbers.
8x3+4+9-5=16
fFafafa usr F Rl 3 Temsil & RER seawR g U gHtewor ot g fifsiwl

8x3+4+9-5=16
Options:

1)3and 4

3dur4

2)4and 8
473918

3)5and 3
5dur3

4) 5and 9
53dur9

Correct Answer: 5 and 3
5dur3

Candidate Answer: 5 and 3
5aur3

QID : 115 - If (2)* * 4 = 2 and (4)* * 4 = 16, then what is the value of A in (6)* * A = 182

AR (2 *4=2qw@)**4=162 1 (6)* *A=18F AmTAR N 27
Options:

Correct Answer: 12
Candidate Answer: [ NOT ANSWERED ]

QID:116 -
In the following question, select the number which
can bhe placed at the sign of question mark (?) from
the given alternatives.

fafafaT oy F Ry o7 el # @ uxw B
(?)&F FAR T FA €A FEA A AT

2 3 7

|1[41]5 ] | 48878 ]| [5]?]3]
3 2 2

Options:

1) 189

2) 227

3) 277

4) 339

Correct Answer: 227
Candidate Answer: [ NOT ANSWERED ]

QID:117 -
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How many triangles are there in the given figure?

& 78 s R Rag ¥

Options:
1)8

2)10
3)12

4)14
Correct Answer: 12
Candidate Answer: 12

QID : 118 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All rackets are bats.
1. All bats are wickets.

Conclusions:

I. Some wickets are rackets.
1. All wickets are rackets.

12 Rw 7Q uer  © U SR I A1 I el IR TR i e feg g €, gretifen 3 Ay 71 aeat @ fradn g wendt 1wt fsen g ofk fiRr Fraffa &R fs Ry o
@ feend, U g e o STYR W gRAET &1

hY:

|. g e qe
1. goft 3= fahe €1

fArsep:

|. ® fadhe e &l

1. gofY fadhe Yhe &1

Options:

1) Only conclusion (1) follows.

Fhadt ey (1) 8t 81

2) Only conclusion (11) follows.

Fhad ey (1) 98t 81

3) Neither conclusion (1) nor conclusion (1I) follows.
Tt e (1) 7 & et (1) 92 81

4) Both conclusions follow.

T 6t sy wet 81

Correct Answer: Only conclusion (1) follows.

erer o (1) 9 21

Candidate Answer: Only conclusion (1) follows.

eret s (1) 9 21

QID:119-
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From the given options, which figure can be formed
by folding the figure given in the question?

Trrafafa fweat & @ FiF o 397 3y uwy

# & 7 gty F AT TS I TEAT &2
a0
Y | R

o1

Options:
1)

B

O

2)

G
O

3)

G
Y

4

Correct Answer:

G
O

Candidate Answer: [ NOT ANSWERED ]

Y

QID : 120 - Identify the diagram that best represents the relationship among the given classes.
Staff, Manager, Worker
I ARE Y St 12 Qg 7g a1t & offe o Heie 1 el feuor e gl

Options:

1)

@

2
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g |8 [®

Correct Answer:

®

Candidate Answer:

SS

QID:121-

Which answer figure will complete the pattern in the
question figure?

P W IR AT TH FHIad & UGHT Bl GT

HLE?
? ([
R
Faw il i e
T ==
[(REICNE]
Options:
1)
2)
I
]
3)
I
]

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In

4)

1

L
Correct Answer:

B8,

Candidate Answer:

B8,

QID: 122 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% I FPadr A ¥ 39 TR HE H ghT
orm & uwy gl BT &

L

Options:

1)

Correct Answer:
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Candidate Answer:

N

QID:123-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

dr F uy dglaal # R dgER wee @t
ABHT Teed JUT Tield & aIg 98 hd 3R AP
o R geme

5 F]

Options:

1)

N
—

o
< O
<

w
~

Co

H
=

€2

Correct Answer:

Co

Candidate Answer:
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QID: 124 -
If a mirror is placed on the line AB, then which of
the answer figure is the right image of the given
figure?

ofg T gUT F AB T@T W @I AW, & & mE
IR ApRAT # @ FiF O dea oy Aea A
Ter ufafasa gefre

AAA

ARk B

Options:
1)

alvvy

A

A A

AlaAa

v|vav

Y%

AA

VvV

Correct Answer:

alvvv

YV

Candidate Answer:

alvvv

yv

QID:125-
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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrnces can
be represented first by its row and next by its column, for example, ‘X’ can
be represented by 21, 44, elc, and ‘R’ can be represented by 67, 98, etc.
Similarly, you have to identify the set for the word “CREEP”.

TS Qg dad UH TEAT-HHE AT guiam amm §, Star 75 Beeut # @
el wen @ R wrar ) Ridedt & By v dear-aag 36w & o) avit
gRT geiw e §, Star T A Be aw gt anegg # § egEl & waEd
3 dftn i dEar 0 & 4 § 73 R, 3k swegen Hr 5 F9) 39 gy @
U HeW A Ugd 3Heh o AR g A T d@wr g g aran g
3T & T X @ 21, 44, 3T g gAT ST WHEAT § AU R 67,
98, T g’y aefar = gwar ¥ =@ ats @ U uw A R A gee
“CREEP" & T @iap & uegEeam &l

Matrix-| Matrix-ll
I -l
oj1]2]3 |4 5(6|[7|8|9
OlE|CIP|X|T 5|R(LIN|O|M
1|C|P|X]|T|E 6|O/M|R[L|N
2P| X|TIE|C TILIN|O[M|R
JIX|ITIE|C|P SIMR|ILI[N|O
4| T|E|C|P|X 9(N|IOIM|R|L

Options:
1) 10,79, 23,32, 42

2) 24,55,14,41,12
3) 33,86,32,13,43

4) 42,98, 41,00, 34
Correct Answer: 42, 98, 41, 00, 34
Candidate Answer: 42, 98, 41, 00, 34

QID : 126 - In which market form, a market or an industry is dominated by a single seller?

fohT UehR & ITSTR a1 §, STSTR 3127eT I UR Ueh g faghdT ol a<id giar §?

Options:
1) Oligopoly
TR

2) Monopoly

TRIARR

3) Duopoly

SRR

4) Monopolistic Competition
ufaaifar

Correct Answer: Monopoly

Candidate Answer: Monopoly

QID : 127 - Which one of the following is also regarded as Disguised unemployment?

o5 SRISHTRY aht 3fR fohg a8 & oft St Si7em 82

Options:
1) Underemployment
3Teq

2) Frictional unemployment
eef Taeft

3) Seasonal unemployment
ERSUIN]

4) Cyclical unemployment
RIS

Correct Answer: Underemployment
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3] ISR

Candidate Answer: Seasonal unemployment
Hget

QID : 128 - Which of the following are constituents of Indian Parliament?

(i) The President
(i) The Council of States (Rajya Sabha)
(iii) The House of the People (Lok Sabha)

fafafea 8 @ aF @ wRd 99 & Huee 82
(i) wrgafa

(ii) TrsTga

(iii) SeRgT

Options:

1) (i) and (i)

(i) e (i)

2) (i) and (ii)

(i) < (i)

3) (i) and (iii)

(i) T (iii)

4) (i), (ii) and (jii)

(i), (ii) T (i)

Correct Answer: (i), (i) and (iii)
(i), (ii) v (iii)

Candidate Answer: (i), (ii) and (iii)
(i), (ii) v (iii)

QID : 129 - Who among the following is the executive head of state in India?

fFafofRea d @ o9 @ ywRa 75T o1 erfuTere sremer &2

Options:

1) Prime Minister
A

2) President

3) Cabinet Secretary
Fferte wfa

4) Finance Secretary

o wfem

Correct Answer: President

Candidate Answer: Prime Minister
e

QID : 130 - Who built the Konark"s Sun Temple?

e ol G HeR e saman ar?
Options:
1)Anantavarmaar1_c[0hodaganga Deva

2) Narasimhadeva |
ugH

3) Kapilendra Deva Routaray
Hitcls 3a IR

4) Purushottam Dev

Correct Answer: Narasimhadeva |
g

Candidate Answer: Narasimhadeva |
T
QID : 131 - Who was the first Governor General of Bengal?

ST & U TTER SR i 3?
Options:

1) Robert Clive

RIE FAZT

2) William Bentick

faform dfew

3) Warren Hastings

IR i

4) Charles Cornawallis
S
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Correct Answer: Warren Hastings

Candidate Answer: Warren Hastings

AR gfed

QID : 132 - Amazon river flows through which of the following country?

fffEa 7 3 forg 23 & Jome 76! T5dt &2
Options:

1) USA

TGh T SRR

2) France

g

3) Brazil
EICic]

4) Canada
TSI

Correct Answer: Brazil

Candidate Answer: USA
Gg<h A5G

QID : 133 - What is the other name of Sahyadri Range?

g, udd Sae ST =T A T 87

Options:
1) Lesser Himalayas
ey

2) Shivaliks

fRranforen

3) Western Ghats

gigyHt e

4) Eastern Ghats

gdf are

Correct Answer: Western Ghats
e

Candidate Answer: Shivaliks

fRranforen

QID : 134 - Who discovered bacteria?

Staroy <t @tet fehem &t off?

Options:
1) Antonie Ven Leeuwenhoek

2) Robert Brown
e S

3) Robert Hook
e

&R
4) Robert Koch
JIaE HT

Correct Answer: Antonie Ven Leeuwenhoek
AR ot <

Candidate Answer: Robert Brown
(IS

QID : 135 - What is the name of a group of similar cells performing a specific function?

Ueh faRiY 1 ahet aTel T el fRIehTST o g oh T hgd 87
Options:

1) Tissue

Gdeh

2) Organ

3T

3) Organ system

ST

4) Cellular organization

SRIfARR =T

Correct Answer: Tissue

Candidate Answer: Tissue
Sdh

QID : 136 - Plant tissues are of how many types?
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dieff & FHaeh fohd= TR & gid &7
Options:

1)3

2)2

3)5

4)6

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 137 - It is difficult to fix a nail on a freely suspended wooden frame. Which law supports this statement?

WIS T G dAeh g Akl o Ueh ¢idt B It ST S BIT &1 SIF I I 59 U ol T dheal 872
Options:

1) Law of inertia

STear o1 R

2) Newton's second law

e ol GERT

3) Newton's third law

e ol T e

4) Pascal's law

UIhe el

Correct Answer: Newton's third law
e ol e e

Candidate Answer: Newton's third law

e ol et e

QID : 138 - Which one of the following is not a property of electromagnetic waves?

P & & w1 R grachia adiit b qor e 22
Options:
1) Electromagnetic waves do not show interference and diffraction.
] T fae 78t fezareft &1
2) Oscillating electric field and magnetic field are perpendicular to each other.
faea o o & U @R & dewu g 8
3) Electromagnetic waves are transverse waves
1 SPGBl 8
4) Electromagnetic waves do not require a medium to propagate.

e Trarehir a<t et oY aigt & forg fonedt mresmy <t smmasarchar gt gt

Correct Answer: Electromagnetic waves do not show interference and diffraction.

o e 78t fezarcht &

Candidate Answer: Oscillating electric field and magnetic field are perpendicular to each other.
forega o G &1 Qe gER o e g1l 81
QID : 139 - What is a bug in computer terminology?
HILR T A a1 F T AT 82
Options:
1) A virus
eh IrRIRY
2) A program
Qe g
3) An error in program

# Qe et
4) Magnetic disk storage device
TR R HeRUT Iuahvor
Correct Answer: An error in program
T & Ge et
Candidate Answer: An error in program

H e Tt

QID : 140 - A radio-active substance has a half life of six months. Three-fourth of the substance will decay in

Uen Jfeat-ut axg &t a1ef o1y 6 W 81 g oAl -t feear # g ghmi
Options:

1) Six months

®: Hig

2) Ten months

<9 AT

3) Twelve Months

ELGRIN

4) Twenty four months

<refte A1g

Correct Answer: Twelve Months
9IRE A1
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Candidate Answer: | NOT ANSWERED |

QID : 141 - pH of the human blood is .

ARG R NI g8l
Options:

1) Slightly Acidic

T AT

2) Highly Acidic

iR caesivg

3) Slightly Basic
& &R
4) Highly Basic
3fe e

Correct Answer: Slightly Basic

hH

Candidate Answer: Slightly Basic
& &R

QID : 142 - In which city is the Forest Research Institute of India located?

TR TR TRAT R & fohe rer & 2 82
Options:

1) New Delhi

73 Reeeft

2) Hyderabad

TG

3) Dehradun

4) Shimla

v
Correct Answer: Dehradun

Candidate Answer: Dehradun

QID : 143 - Deen Dayal Rasoi Yojana to provide food at only Rs. 5 has been launched on 6th April, 2017 by which state?

e 313 AioHT 519 ded dhaet 5 TUF H HisT IUTse] T STRRAT, 6 378, 2017 & fhg I gRT 3R 61 7 872
Options:

1) Chattisgarh

ERiurs

2) Haryana

gharom

3) Madhya Pradesh
A U

4) Uttar Pradesh
IR U

Correct Answer: Madhya Pradesh
e TR

Candidate Answer: Uttar Pradesh
IR UG

QID : 144 - What was invented by Zacharias Jansen?

STRTRAT ST = fohgenT SfashR forar ar?

Options:

1) Jet Engine
e g5

2) Radium
JeTm

3) Microscope

geast

4) Electric Lamp
SLt)

Correct Answer: Microscope
geresft

Candidate Answer: Electric Lamp

QID : 145 - In which of the following game, ball is not used?

frafaf@a 3 @ i @ @« A e &1 s To1 fohar strar?

Options:
1) Football
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FedTe
2) Cricket
e
3) Badminton
Fefies
4) Tennis
el

Correct Answer: Badminton

Candidate Answer: Badminton

QID: 146 -
Match the following.

fereafafag & fem Sfam)
Festival / 3caa State / =7
1. Gangaur a. West Bengal
0TI oidrH T
2. Ganesh Chaturthi b. Rajasthan
TroTer Tggel TTUH
3. Durga Puja ¢. Maharashtra
gt g HERTE
Options:
1) 1-b, 2-c, 3-a
2) 1-c, 2-a3, 3-b
3) 1-b, 2-a, 3¢
4) 1-a, 2-¢, 3-b

Correct Answer: 1-b, 2-c, 3-a
Candidate Answer: 1-b, 2-c, 3-a

QID : 147 - Who has won the 'Miss Universe 2016' title?

‘g geftawt 2016" o1 fEare farem St 82

Options:
1) Pia Wurtzbach
o aésaien

2) Iris Mittenaere
3) Raquel Pellissier

4) Andrea Tova
ifgan avar
Correct Answer: Iris Mittenaere

Candidate Answer: Iris Mittenaere

QID : 148 - Who is the author of the book titled 'Numbers Do Lie'?

Options:

1) Anil Menon
EIECK:CE]

2) Akash Chopra
STRIST TTST

3) lan Chapell
EXIECEC]

4) Kunal Basu
EEISEINS
Correct Answer: Akash Chopra
STSRIST ST

Candidate Answer: [ NOT ANSWERED ]
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QID : 149 - Who has been appointed as the Secretary General of the United Nations in January, 2017?

STet 2017 # fohdt Tg<h g ol 74T AgrTaa g fomar mar &7

Options:
1) Ban Ki-Moon

I Hr g7
2) Kofi Annan
I S

3) Boutros-Boutros Ghali
- oreft

4) Antonio Guterres
(_:orrect Answer: Antonio Guterres

(_:andidate Answer: Antonio Guterres

Gt ey

QID : 150 - India has longest international border with which country?

ohe 321 & 1Y YR Y T e} SfarTs e &2

Options:
1) Bhutan

qI=
2) Nepal
Ut

3) Bangladesh
fTeTTeer

4) Pakistan
TR

Correct Answer: Bangladesh
TretTeRT

Candidate Answer: Bangladesh
7

QID : 151 - How many numbers are there from 700 to 950 (including both) which are neither divisible by 3 nor by 7?

700 & 950 (ST &t fAretren?) aes eft foharft Tamd § A A 3 @7 & 7 @ fafSia g §2

Options:
1) 107
2) 141
3) 144
4) 145

Correct Answer: 144
Candidate Answer: [ NOT ANSWERED ]

QID : 152 - A can complete a work in 20 days and B can complete the same work in 25 days. If both of them work together, then in 3 days what percent of the total
work will be completed?

A e & ol 20 Rt § g1 o TR & U1 B I @ et 25 AT F g1 o TendT 81 afe < iRt srd e, |t 3 AT F et el ot fonae wifsid serf g gt siam?

Options:
19

2)12
3)25

4) 27
Correct Answer: 27
Candidate Answer: 27

QID : 153 - The length of two parallel sides of a trapezium are 18 m and 24 m. If its height is 12 m, then what is the area (in m?) of the trapezium ?

Teh G hl & GHICR oTiail Y g 18 Hier qar 24 Hiex &1 afe 3qht $arg 12 Hiex 8, o Geer o1 fachet (12 §) fhaar 82

Options:
1) 126

4) 1024
Correct Answer: 252
Candidate Answer: 252
QID : 154 - If two successive discounts of 50% and 10% are offered, then what is the net discount (in %)?
i 50% AT 10% T &t shfdes Te & ol &, at et () Te (% #) fora=t &2
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Options:

Correct Answer: 55
Candidate Answer: 55

QID : 155 - Three bottles of equal capacity containing mixture of milk and water in ratio 2: 5,3 : 4 and 4 : 5 respectively. These three bottles are emptied into a large
bottle. What will be the ratio of milk and water respectively in the large bottle?

I TH erTaT T Side § g JUT uT & fSioT T SIguTd AT 2: 5,3 4 AT 4 5 81§ A Side ol Tk ISt Siae B @relt i 1 Sira 81 9t side B shALn: gy a1 ur &
Ut feRaT ghm?

Options:

1)73:106

2)73:116

3)73:113

4)73:189

Correct Answer: 73:116
Candidate Answer: 73:116

QID : 156 - The average age of 6 members of a family is 20 years. If the age of the servant is included, then the average age increase by 25%. What is the age (in
years) of the servant?

Ueh URAR & 6 Taxl i e omg 20 a §1 IS fene i 31g T e fowa ST 8, af Sfed g # 25% ol g Bl 81 ATehe hl 311y, (asT ) /T 872
Options:

1) 30

2)35

3)50

4) 55
Correct Answer: 55
Candidate Answer: 35

QID : 157 - For an article the profit is 190% of the cost price. If the cost price increase by 10% but the selling price remains same, then profit is what percentage of
selling price (approximately)?

Qe g o o Hed 1 190% <14 8iaT & | 31 5ha 5o H 10% <l S Bicht & ifeh fend Hew G 38T 8, at @ feha Hed ot (FrT) foem ufdera 82

Options:

1) 54

2) 62

3)70

4) 163

Correct Answer: 62

Candidate Answer: [ NOT ANSWERED |

QID : 158 - A, B and C are three students. A got 18% more marks than B and 12% less than C. If B got 220 marks, then how much marks C has got?

A BaurC AT s &l Ah BY 18% 3ifdieh 3ich 91 C & 12% T U &I &1 Tf B &l 220 3ich U 8idt &, af C ! foham 3k umd gt 87

Options:

1) 230

2) 295

3) 240

4) 290

Correct Answer: 295
Candidate Answer: 295

QID : 159 - Two people A and B are at a distance of 260 km from each other at 9:00 a.m. A immediately starts moving towards B at a speed of 25 km/h and at 11:00
a.m. B starts moving towards A at a speed of 10 km/hr. At what time (in p.m.) will they meet each other?

3l aafth, A aaT B 9:00 gafg (3. TH.) TR Tah g@k § 260 foh.oft. i it ;R &1 A gRa 25 fon.#ft. ufa der i ifay & B et 3R I SieeT ahwat § 921 B 11:00 gafg (8. ga.) o 10 fR.t. ufy
HeT Y I § A I 3R T SR FRT 81 98 Ueh gUR ¥ fohe a9g (erorTg (. g #) fAedi?

Options:

Correct Answer: 5:00
Candidate Answer: [ NOT ANSWERED ]

QID : 160 - If Rs 2500 becomes to Rs 2970.25 in 2 years at compound interest compounded annually, then what is the yearly rate of interest (in %)?

Ifg 2500 <. &t aut § Tehgfeg saret & anftfer Yoo & 2970.25 %. a9 STa &, af a1fifes saret & (% #) fohat 82
Options:
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2)9
3) 11
4)13
Correct Answer: 9
Candidate Answer: 7

QID: 161 - If (1/x) + (1/y) + (1/2) =0 and x +y + z = 9, then what is the value of x3 +y3 + 23 - 3xyz?

i (1/%) + (1/y) + (1/2) = 0quT x +y + 2 = 9, @ x3 + y3 + 23 — Bxyz o1 A &1 g2
Options:

1) 81

2) 361

3)729

4) 6561

Correct Answer: 729
Candidate Answer: 81

QID : 162 - If x* + (1/x*) = 34, then what is the value of x3 - (1/x3)?

i x* + (1/x%) = 34, d@ x3 - (1/x3) &1 71 = gm?
Options:

Correct Answer: 14
Candidate Answer: 0

QID:163-Ifx = 1 -y and x2 = 2 - y2, then what is the value of xy?

gl x=1-ydaurx? =2 - y2 dt xy &l 7 &1 ghm?
Options:

Correct Answer: —1/2
Candidate Answer: [ NOT ANSWERED ]

QID : 164 - If x + [1/(x + 7)] = 0, then what is the value of x — [1/(x + 7)]?

afe x + [1/(x + 7)] = 0,d x — [1/(x + 7)] &1 &4 F1 G2
Options:

Correct Answer: 3v5 -7
Candidate Answer: [ NOT ANSWERED]

QID: 165 -

In the given figure, DEIBC and AD : DB =5 : 3, then
what is the value of (DE/BC)?

& o8 ampfa &, DEIBC Tur AD:DB=5:3% ar
(DEIBC) T AT 4T &2
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Options:
1) 5/8

2)2/3
3)3/4

4) 5/3
Correct Answer: 5/8
Candidate Answer: 5/8

QID : 166 - PQRS is a cyclic quadrilateral and PQ is the diameter of the circle. If ZRPQ = 38°, then what is the value (in degrees) of ZPSR?

PQRS Ueh hIT IST § a7 PQ 91 &1 &9 &1 Ifs LRPQ = 38° 8, @ £ PSR &1 714 (f5ift #) foraan 82

Options:
1) 52
2)77

3) 128
4) 142

Correct Answer: 128
Candidate Answer: 52

QID : 167 - Smaller diagonal of a rhombus is equal to length of its sides. If length of each side is 6 cm, then what is the area (in cm?) of an equilateral triangle whose
side is equal to the bigger diagonal of the rhombus?

Toh THAGST o1 BleT ot T yetTait &Y ovTd S aRISR &1 T Telich Yo h s 6 VA, 8, ot 39 Tmeng Roqe b1 et (3.2 H) o & gt oot gHagefe & 9 st &
TRIeR 87

Options:
1) 18v3

2) 27v3
3)32v3

4)36v3

Correct Answer: 273

Candidate Answer: [ NOT ANSWERED ]

QID: 168 -
In the given figure, PR and ST are perpendicular to
tangent QR. PQ passes through centre O of the
circle whose diameter is 10 cm. If PR = 9 cm, then
what is the length (in cm) of ST7?

& o WEta # TO QR W PR U ST
F &l PQ 39 & &g fig O & e ¥ Forwam
zarg 10 ¥ &) 3afg PR & awas 9 @A §
ar ST &r oFars (@3 ) Far &2

-\""'\-\.\_\\
/ N
[ 0 ‘~.
| T ,Il
\f fS
R M T Q
Options:
1)1
2)1.25
3)1.5
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4)2
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]
QID : 169 - What is the simplified value of (sec A + cos A)(sec A - cos A)?

(sec A + cos A)(sec A — cos A) T TXlIghd AT T 872
Options:
1) 2tan? A

2) 2sin2 A
3)sinZ Atan2 A

4) sin2 A +tan? A
Correct Answer: sin? A + tan2 A

Candidate Answer: sin A + tan? A

QID:170-

5 2
What is the simplified value of | —€°%2€A | 5
cotA+tan A

. 2
Limsec‘q ] F TIAET AT FT &7

cotA+tan A
Options:
1) 2cos?A
2) 1 - sin?A
3) sec?A

4) secA tanA
Correct Answer: 1 - sinZA

Candidate Answer: 1 — sin%A

QID:171-
What is the simplified value of
tan A . cotA 2 .
1T-cotA 1-tanA sin2A
tan A cotA 2
caA Lk WA D T
AT FIT &2
Options:
1) -1
2)0
3)1
4)2

Correct Answer: 1
Candidate Answer: -1

QID:172-
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The table given below shows the percentage of literate
people in 6 cities. This table also shows the ratio of
males to females among literate people.

A & g arfere H 6 U # RIfET @it @ ufdea

@l geaT I &) Jg aifee RifEa et A gEel g
Afe3tt & gard H o gedr B

% of literate

City people Males : Females
A R el & Uey Afpend
ufaeia

City 1/ 1 80 4:5

City 2 / 27 2 85 7:4

City 3/ 2% 3 78 3:2

City 4 /e 4 63 1z

City 5/2%EL 5 92 9:7

City 6 /5L 6 58 253

% of literate people of any city
= (Literate people of the city / Total population of the city)
= 100

TR e o RIfdIT det @1 ufdea

= (38 TN & RBIT 91/ 38 WX H Fel SATaEn)
x 100

If the total population of City 4 is 600000, then how many literate people are there in city 4?

Tf& ATER 4 I FoeT SIEEAT 600000 &, <t 216% 4 F foha fifera av 82

Options:
1) 480000

2) 378000
3) 468000

4) 348000
Correct Answer: 378000
Candidate Answer: [ NOT ANSWERED ]

QID:173-
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The table given below shows the percentage of literate
people in 6 cities. This table also shows the ratio of
males to females among literate people.

A & g arfere H 6 U # RIfET @it @ ufdea

@l geaT I &) Jg aifee RifEa et A gEel g
Afe3tt & gard H o gedr B

% of literate

City people Males : Females
A R el & Uey Afpend
ufaeia

City 1/ 1 80 4:5

City 2 / 27 2 85 7:4

City 3/ 2% 3 78 3:2

City 4 /e 4 63 1z

City 5/2%EL 5 92 9:7

City 6 /5L 6 58 253

% of literate people of any city
= (Literate people of the city / Total population of the city)
= 100

TR e o RIfdIT det @1 ufdea

= (38 TN & RBIT 91/ 38 WX H Fel SATaEn)
x 100

Total population of City 6 is 200000 and the total population of City 2 is 220000. What is the respective ratio of literate males of City 2 and literate females of City 6?

TER 6 I e STEEAT 200000 B T 6% 2 T HeT ST 220000 &1 SHAT: AeR 2 3 e gt 721 216x 6 i RAfera Afgersi & oia & srgura @ 82

Options:

1) 348: 595
2) 255:199
3) 595 : 348
4)199:255

Correct Answer: 595 : 348
Candidate Answer: [ NOT ANSWERED ]

QID:174-
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The table given below shows the percentage of literate
people in 6 cities. This table also shows the ratio of
males to females among literate people.

A & g arfere H 6 U # RIfET @it @ ufdea

@l geaT I &) Jg aifee RifEa et A gEel g
Afe3tt & gard H o gedr B

% of literate

City people Males : Females
A R el & Uey Afpend
ufaeia

City 1/ 1 80 4:5

City 2 / 27 2 85 7:4

City 3/ 2% 3 78 3:2

City 4 /e 4 63 1z

City 5/2%EL 5 92 9:7

City 6 /5L 6 58 253

% of literate people of any city
= (Literate people of the city / Total population of the city)
= 100

TR e o RIfdIT det @1 ufdea

= (38 TN & RBIT 91/ 38 WX H Fel SATaEn)
x 100

If there are 259210 literate females in City 5, then what is the total population of City 52
I e 5/ 259210 A Afgad &, ot 2reR 5 Y pot ST T 872

Options:
1) 644000

2) 354200
3) 690000

4) 483000
Correct Answer: 644000
Candidate Answer: [ NOT ANSWERED ]

QID:175-
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The table given below shows the percentage of literate
people in 6 cities. This table also shows the ratio of
males to females among literate people.

A & g arfere H 6 U # RIfET @it @ ufdea

@l geaT I &) Jg aifee RifEa et A gEel g
Afe3tt & gard H o gedr B

% of literate

City people Males : Females
A R el & Uey Afpend
ufaeia

City 1 /2T 1 80 4:5

City 2 / 27 2 85 7:4

City 3/ 2% 3 78 3:2

City 4 /e 4 63 1z

City 5/2%EL 5 92 9:7

City 6 /5L 6 58 253

% of literate people of any city
= (Literate people of the city / Total population of the city)
= 100

TR e o RIfdIT det @1 ufdea

= (38 TN & RBIT 91/ 38 WX H Fel SATaEn)
x 100

The population of the 6 cities are 250000, 200000, 220000, 300000, 150000 and 400000 respectively. Which is the correct order of the number of literate people in
these cities?

6 STE I ST AT 250000, 200000, 220000, 300000, 150000 2T 400000 &1 37 et | e R ehl ST o1 TEt shH i 41 872
Options:

1) City 6 > City 1 > City 4 > City 2 > City 3> City 5

QMET6 > G 1 >AGT4 > AT 2 > AGX 3 > AT 5

2) City 4 > City 6 > City 1 > City 2 > City 3 > City 5

ABI4>2AGL6>AGT 1 > AT 2 > AL 3 > A 5

3) City 6 > City 4 > City 1 > City 3 > City 2 > City 5

QMG 6 > AGI 4 >AgT 1 >AGT 3 > A 2 > AT 5

4) City 6 > City 1 > City 4 > City 3 > City 2 > City 5

BT 6 > ABT 1 > ABT4 > ABT 3 > AT 2> A 5

Correct Answer: City 6 > City 1 > City 4> City 3 > City 2 > City 5
MBI 6 >2ABT 1 > AT 4 >AGI3 > A2 > AT 5
Candidate Answer: [ NOT ANSWERED |

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

The Tata group owns (1)/ many industries, that are spread (2)/ across the globe. (3)/ No Error (4)
Options:

Correct Answer: 2
Candidate Answer: 2

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

She has not been (1)/ to the restaurant (2)/ much late. (3)/ No Error (4)
Options:
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4)4
Correct Answer: 3
Candidate Answer: 1

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

He could excel in his board exams only after very hard.
Options:

1) continuing

2) functioning

3) learning

4) toiling

Correct Answer: toiling

Candidate Answer: learning

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

He his camera on the table.
Options:

1) laid

2) lain

3) lay

4) lie

Correct Answer: laid

Candidate Answer: lay

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Monotonous
Options:

1) Dull

2) Timid

3) Unfriendly
4) Lusty

Correct Answer: Dull
Candidate Answer: Dull

QID : 181 - In the following question, out of the four alternatives, select the word similarin meaning to the word given.

Elusive

Options:

1) Baffling

2) Enticing

3) Directing

4) Soothing

Correct Answer: Baffling
Candidate Answer: Baffling

QID : 182 - In the following question; out of the four alternatives, select the word opposite in meaning to the word given.

Colossal
Options:
1) Epic
2) Rust
3) Teeny
4) Vast

Correct Answer: Teeny
Candidate Answer: Teeny

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Opprobrium

Options:

1) Adulation

2) Ignominy

3) Mystical

4) Preclude

Correct Answer: Adulation

Candidate Answer: Adulation

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

All agog
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Options:
1) Avoid
2) Contentment
3) Amazed
4) Unsystematically

Correct Answer: Amazed
Candidate Answer: Amazed

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Not to mince matters

Options:

1) To be at ease

2) To not confuse others

3) To not interfere in others affairs
4) To speak out politely

Correct Answer: To speak out politely
Candidate Answer: To be at ease

QID : 186 - Improve the bracketed part of the sentence.

The doctor (has advice) him to take proper diet.
Options:

1) has advised

2) had been advised

3) was advised

4) No improvement

Correct Answer: has advised
Candidate Answer: was advised

QID : 187 - Improve the bracketed part of the sentence.

(Being a pleasant evening), we went out for a long drive on a highway.
Options:

1) As a pleasant evening

2) It being a pleasant evening

3) With a pleasant evening

4) No improvement

Correct Answer: It being a pleasant evening
Candidate Answer: It being a pleasant evening

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A roundabout way of speaking
Options:

1) Centipede

2) Circumlocution

3) Coercion

4) Concentric

Correct Answer: Circumlocution
Candidate Answer: Circumlocution

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

An old unmarried woman
Options:

1) Masochist

2) Septuagenarian

3) Sniper

4) Spinster

Correct Answer: Spinster
Candidate Answer: Spinster

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Autumn

2) Desperate

3) Reciept

4) Traffic

Correct Answer: Reciept

Candidate Answer: Reciept

QID : 191 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Century
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2) Finance
3) Remember
4) Sponser
Correct Answer: Sponser
Candidate Answer: Sponser

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P- However, our environment also need some help from all of us to get maintained as usual to nourish our lives forever and to never ruin our lives.
Q- It gives us all things which we need to live our life on this planet.

R- It provides us better medium to grow and develop.

S- An environment includes all the natural resources which surround us to help in number of ways.
Options:

1) PQRS

2) QPSR

3) SRQP

4) QSPR

Correct Answer: SRQP

Candidate Answer: [ NOT ANSWERED ]

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P- The starting point can be the experience of a minority within society generally or even the experience of a group of people within a progressive social movement
which does not live up to its progressive agenda in every respect.

Q- Within (or after) postmodernism a grand unifying theory no longer seems possible. This does not exclude the possibility or the necessity of dialogue.
R- The starting points of social criticism can be very different and the different forms of socialism never has a monopoly on Social Criticism.

S- Nevertheless most social critics still consider the Critique of capitalism to be central.

Options:

1) PRQS

2) RPQS

3) RQPS

4) PSRQ

Correct Answer: RPQS

Candidate Answer: [ NOT ANSWERED ]

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

Rohan was not told about the e-mail.

Options:

1) Nobody told Rohan about the e-mail.

2) Somebody did not tell Rohan about the e-mail

3) The e-mail was not told about to Rohan.

4) There was nobody who could tell Rohan about the e-mail.
Correct Answer: Nobody told Rohan about the e-mail.

Candidate Answer: Nobody told Rohan about the e-mail.

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

Ram said to Rohan, "Don't run so fast."

Options:

1) Ram advised Rohan don't run so fast.

2) Ram asked Rohan why is he running so fast.
3) Ram requested Rohan not to run so fast.

4) Ram told Rohan not to run so fast.

Correct Answer: Ram told Rohan not to run so fast.
Candidate Answer: Ram told Rohan not to run so fast.

QID : 196 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Language, they say, is the _____ through which human beings perceive the world. If so, English is perhaps the most lens through which to see animals. It has
a cross eyed view of birds, beasts, fish and fowl. The very word “animal” can the brutish and the sensual. Animal imply baseness and vulgarity.

Language, they say, is the ____ through which human beings perceive the world.
Options:

1) lens

2) resource

3) source

4) telescope

Correct Answer: lens
Candidate Answer: [ NOT ANSWERED ]
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QID : 197 - In the tollowing questions, the sentence given with blank to be tilled in with an appropriate word. Select the correct alternative out ot the four and indicate
it by selecting the appropriate option.

Language, they say, is the
a cross eyed view of birds, beasts, fish and fowl. The very word “animal” can

through which human beings perceive the world. If so, English is perhaps the most lens through which to see animals. It has
the brutish and the sensual. Animal imply baseness and vulgarity.

If so, English is perhaps the most lens through which to see animals.
Options:

1) distorting

2) disturbing

3) popular

4) useful

Correct Answer: distorting

Candidate Answer: [ NOT ANSWERED ]

QID : 198 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Language, they say, is the through which human beings perceive the world. If so, English is perhaps the most lens through which to see animals. It has
a cross eyed view of birds, beasts, fish and fowl. The very word “animal” can the brutish and the sensual. Animal imply baseness and vulgarity.

Ithas ___ a cross eyed view of birds, beasts, fish and fowl.

Options:

1) accompanied

2) exercised

3) perpetuated

4) undeterred

Correct Answer: perpetuated

Candidate Answer: [ NOT ANSWERED |

QID : 199 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Language, they say, is the through which human beings perceive the world. If so, English is perhaps the most lens through which to see animals. It has
a cross eyed view of birds, beasts, fish and fowl. The very word “animal” can the brutish and the sensual. Animal imply baseness and vulgarity.

The very word "animal” can ____ the brutish and the sensual.
Options:

1) connote

2) rectify

3) trouble

4) understand

Correct Answer: connote

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Language, they say, is the _____ through which human beings perceive the world. If so, English is perhaps the most lens through which to see animals. It has
a cross eyed view of birds, beasts, fish and fowl. The very word “animal” can the brutish and the sensual. Animal imply baseness and vulgarity.

Animal ____ imply baseness and vulgarity.
Options:

1) breeding

2) gestures

3) instincts

4) species

Correct Answer: instincts
Candidate Answer: [ NOT ANSWERED |
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